## TAMIL NADU STATE JUDICIAL ACADEMY, CHENNAI

## Induction Training Programme for the Newly Recruited Civil Judges 2012

## 10.09.2013 to 09.11.2013 (Batch – III) - 12 Civil Judges

Date & Time Schedule	10.00-11.30 am	11.30 - 11.45 am	11.45 am - 1.00 pm	1.00 -2.00 pm	2.00-3.30 pm	3.30 -3.45 pm	3.45-4.30 pm	04.30 – 05.00 pm
10.09.2013 Tuesday	10.00 – 10.15 a.m. –  Welcome Address The Director Tamil Nadu State Judicial Academy  Judicial Ethics Hon'ble Mr. Justice K. Swamidurai Former Judge, High Court, Madras.	Tea Break	Session Continues with Interaction	Lunch Break	Judicial Service – An Overview  Mr. A. Ratnavelu  Former District Judge	Tea Break	Session Continues with Interaction	Discussion & Evaluation  Director & Asst. Director, Tamil Nadu State Judicial Academy

Date & Time Schedule	10.00-11.30 am	11.30 - 11.45 am	11.45 am - 1.00 pm	1.00 -2.00 pm	2.00-2.30 pm	2.30-4.30 pm
11.09.2013	Issues & Challenges in Judicial Service	Tea	Session Continues with	Lunch	Screening of Short film "APPAAL"	Presentation by Participating Officers on
Wednesday		Break	Interaction	Break		their perceptions on "Issues & Challenges
	Mr. R. Paranjothi, Former District Judge					in Judicial Service" followed by interaction

Date & Time Schedule	10.00-11.30 am	11.30 - 11.45 am	11.45 am - 1.00 pm	1.00 -2.00 pm	2.00-3.30 pm	3.30 -3.45 pm	3.45-4.30 pm	04.30 – 05.00 pm
12.09.2013	Judicial Conduct	Tea	Session Continues with	Lunch	Introduction to Code of Civil	Tea	Session Continues	Discussion &
Thursday		Break	Interaction	Break	Procedure	Break	with Interaction	Evaluation
	Mr. A.E. Chelliah,				- Parties to Suits / Frame of Suits /			
	Senior Advocate, High Court, Madras				Cause of Action			Director & Asst.
					<ul><li>Service of Summons /</li></ul>			Director,
					Appearance of Parties /			Tamil Nadu State
					Consequences of Non-			Judicial Academy
					appearance			
					Mr. S. Sounthar,			
					Advocate, High Court, Madras			

Date & Time Schedule	10.00-11.30 am	11.30 - 11.45 am	11.45 am - 1.00 pm	1.00 -2.00 pm	2.00-3.30 pm	3.30 -3.45 pm	3.45-4.30 pm	04.30 – 05.00 pm
13.09.2013 Friday	Concept of Gender Justice  Ms. B.S. Ajeetha  Advocate, High Court, Madras	Tea Break	Session Continues with Interaction	Lunch Break	Library Work	Tea Break	Submission of Records	Discussion & Evaluation  Director & Asst. Director, Tamil Nadu State Judicial Academy

Date & Time Schedule	10.00-11.30 am	11.30 - 11.45 am	11.45 am - 1.00 pm	1.00 -2.00 pm	2.00-4.00 pm	4.00- 4.15 pm	4.15-5.00 pm
16.09.2013 Monday	Visit to The Spastics Society of Tamil Nadu (SPASTN)				Stress Management  Dr.C.Kumar Babu  Retd. Professor of Psychiatry,  Stanley Medical College & Hospital,  Chennai	Tea Break	Discussion & Evaluation  Director & Asst. Director,  Tamil Nadu State Judicial  Academy
17.09.2013 Tuesday	The Juvenile Justice ( Care & Protection ) 2006, Act – Important aspects  Mr. Kannayiram  Free Lance Consultant in Child Protection, Formerly Field Officer, Social Defence Department, Government of Tamil Nadu.	Tea Break	Session Continues with Interaction	Lunch Break	Rights of Trangenders – Sensitizing Officers to Provide Access to Justice – Duty of the Courts  Thiru. I.Magbool Shareef Programme Manager, Indian Community Welfare Organization, Chennai	Tea Break	Discussion & Evaluation  Director & Asst. Director,  Tamil Nadu State Judicial  Academy
18.09.2013 Wednesday	Banking Frauds-Investigation and Prevention  Mr. P.Ramaswamy  Zonal Head-South India, ICICI Bank, Chennai	Tea Break	Session Continues with Interaction	Lunch Break	Salient Features of Transfer of Property Act, 1882  Mr. S.S.Swaminathan Lecturer (Part time), Dr. Ambedkar Law University Advocate, High Court, Madras	Tea Break	Discussion & Evaluation  Director & Asst. Director,  Tamil Nadu State Judicial  Academy
19.09.2013 Thursday	T.N. Buildings (Lease & Rent Control) Act, 1960, as amended – Salient Features Mr.P.B.Balaji Advocate, High Court, Madras	Tea Break	Session Continues with Interaction	Lunch Break	Salient Features of Transfer of Property Act, 1882  Mr. S.S.Swaminathan Lecturer (Part time), Dr. Ambedkar Law University Advocate, High Court, Madras	Tea Break	Discussion & Evaluation  Director & Asst. Director,  Tamil Nadu State Judicial  Academy
20.09.2013 Friday	Introduction to Forensic Medicine  Dr. R.Selva Kumar  Prof & Head of Forensic Medicine  Kilpauk Medical College, Chennai	Tea Break	Session Continues with Interaction	Lunch Break	Screening of film "TRUTH ABOUT TIGER"	Tea Break	Library Work Writing Record Notes

Date & Time Schedule	10.00-11.30 am	11.30 - 11.45 am	11.45 am - 1.00 pm	1.00 -2.00 pm	2.00-4.00 pm	4.00- 4.15 pm	4.15-5.00 pm		
23.09.2013 Monday	Visit to State Legal Serv	vices Au	thority	Lunch Break	Salient Features of Transfer of Property Act, 1882  Mr. S.S.Swaminathan Lecturer (Part time), Dr. Ambedkar Law University	Tea Break	Session Continues with Interaction		
					Advocate, High Court, Madras				
24.09.2013 Tuesday	Law of Wills  Mr. V.C.Janardhanan  Advocate, High Court, Madras	Tea Break	Session Continues with Interaction	Lunch Break					
25.09.2013 Wednesday	Recording of Confession & Test Identification Parade  Mr. R. Paranjothi, Former District Judge	Tea Break	Session Continues with Interaction	Lunch Break	Of Punishments - Chapter III of Indian Penal Code 1860 Dr. D. Sankar, Registrar, Dr. Ambedkar Law University, Chennai	Tea Break	Session Continues with Interaction		
26.09.2013 Thursday	Evidentiary Value of 1) "Dying Declaration" 2) Approvers' Evidence  Mr. T.M. Vijayaraghavalu Advocate, Vellore.	Tea Break	Session Continues with Interaction	Lunch Break	General Rules of Evidence  Mr. S. Raghunathan, Advocate, High Court, Madras	Tea Break	Session Continues with Interaction		
27.09.2013 Friday	Yogasana Theoretical  Mr. V.C. Suntharam,  President,  Manavalakkalai Yoga, Chennai	Tea Break	Yogasana Practical  Mr. V.C. Suntharam, President, Manavalakkalai Yoga, Chennai	Lunch Break	Library Work	Tea Break	Submission of Records		
30.09.2013 Monday	Visit to Tamil Nadu Forensic	Sciences		Lunch Break	Visit to Tamil Nadu Forens	ic Scier	nces Department		
01.10.2013 Tuesday	Visit to Tamil Nadu Forensic	Sciences	s Department	Lunch Break	Visit to Tamil Nadu Forens	ic Scier	nces Department		
02.10.2013 Wednesday				Holi	day				
03.10.2013 Thursday	Constitutional Values  Mr. R. Yashod Vardhan  Sr. Advocate, High Court, Madras	Tea Break	Session Continues with Interaction	Lunch Break	Intricacies of Order 38 CPC  Mr. S. Sounthar,  Advocate, High Court, Madras	Tea Break	Session Continues with Interaction		
04.10.2013 Friday	Visit to Puzhal	Prison		Lunch Break	Library Work		Writing Record Notes		

Date & Time Schedule	10.00-11.30 am	11.30 - 11.45 am	11.45 am - 1.00 pm	1.00 -2.00 pm	2.00-4.00 pm	4.00- 4.15 pm	4.15-5.00 pm
07.10.2013 Monday	Achieving Excell  Mr. D.PONNUS  Associate Profe  Anna Institute of Mar	AMY ssor		Lunch Break	Screening of Film "ALL RISE FOR YOUR HONOUR"	Tea Break	Discussion and Evaluation
08.10.2013 Tuesday	Visit to State Crime Re	cords B	ureau	Lunch Break	Visit to Railway Protection Force		Session Continues
09.10.2013 Wednesday	Order 21 of Cl Mr.S.Meenakshi Su Advocate, Madurai Bench of	ndaram,	gh Court	Lunch Break	Screening of Film "CHILDHOOD"	Tea Break	Discussion and Evaluation
10.10.2013 Thursday	Time Management  P.S.Vasudevan  Corporate Trainer				Charges – Trial – Judgment  Mr. T.M. Vijayaraghavalu  Advocate, Vellore.	Tea Break	Sessions Continues
11.10.2013 Friday	Visit to Juvenile Justice	Board,	Chennai	Lunch Break	Library Work	Tea Break	Writing Record Notes
12.10.2013 to 20.10.2013			P	OOJA H	DLIDAYS		

Date & Time Schedule	10-11.00 am	11.00- 12.00	12.00- 12.15 pm	12.15 – 01.15 pm	01.15- 2.00 pm	2.00- 3.00 pm	3.00 – 3.45 pm	3.45 – 4.00 pm	4.00 – 5.00 pm
21.10.2013 Monday	The Mental Health Act, 1987	The Immoral Traffic (Prevention Act) 1956	Tea Break	The Probation of Offenders Act, 1958	Lunch Break	Judgment Writing (Civil – I)	Discussion & Evaluation	Tea Break	Session Continues
	Ms. D. Thriveni	Mr. M. Jagadheesan		Ms. A. Umamageswari			Director & Asst. Director, Tamil Nadu State Judicial Academy		
22.10.2013 Tuesday	The Tamil Nadu Borstal Schools Act, 1925.	The Tamil Nadu Prohibition Act, 1937	Tea Break	The Sexual Harassment of Women at Workplace (Prevention, Prohibition & Redressal) Act, 2012	Lunch Break	Judgment Writing (Civil – II)	Discussion & Evaluation  Director & Asst. Director,	Tea Break	Session Continues
	Ms. P. Kavitha	Ms. R. Karpagavalli		Ms. R. Lalitha Rani			Tamil Nadu State Judicial Academy		
23.10.2013 Wednesday	The Muslim Women (Protection of Rights on Divorce) Act, 1985	The Partition Act, 1893	Tea Break	Death of Parties – Procedure for Impleading LRs	Lunch Break	Judgment Writing (Criminal – I)	Discussion & Evaluation  Director &	Tea Break	Session Continues
	Mr. S. Jeevagan	Mr. M. Vignesh Prabhu		Mr. G. Christian			Asst. Director, Tamil Nadu State Judicial Academy		
24.10.2013 Thursday	Compounding of Offences – Withdrawal of Prosecution – Sections 320 and 321 CrPC  Mr. M. Chittibabu	Void Agreements and Voidable Contracts – Relevant Provisions of the Indian Contract Act, 1872 Mr. S. Venkatesan	Tea Break	Indemnity and Guarantee  Mr. N. Venkatesan	Lunch Break	Judgment Writing (Criminal – II)	Discussion & Evaluation  Director & Asst. Director, Tamil Nadu State Judicial Academy	Tea Break	Session Continues

Date & Time Schedule	10.00-11.30 am	11.30 - 11.45 am	11.45 am - 1.00 pm	1.00 -2.00 pm	2.00-4.00 pm	4.00 -4.15 pm	4.15-5.00 pm
25.10.2013 Friday	Visit to Vigilance Home, Mylapore	Tea Break	Session Continues with Interaction	Lunch Break	Library Work	Tea Break	Writing Record Notes
28.10.2013 Monday	Visit to Borstal School	ail, Saidapet	Lunch Break	Library Work	Tea Break	Writing Record Notes	

Date & Time Schedule	10.00-11.30 am	11.30 - 11.45 am	11.45 am - 1.00 pm	1.00 -2.00 pm	2.00-4.00 pm	4.00 -4.15 pm	4.15-5.00 pm
29.10.2013 Tuesday	Understanding Mediation in the Judicial System  Mrs. Uma Ramanathan, Advocate, High Court, Madras Accredited Mediator/Mediator Trainer	Tea Break	Session Continues with Interaction	Lunch Break	How to Apply the Precedents and Write an Order?  Mr. S. Raghunathan, Advocate, High Court, Madras	Tea Break	Session Continues with Interaction
30.10.2013 Wednesday	Civil Procedure Code – An Overview  Hon'ble Mr. Justice K.Swamidurai Former Judge, High Court, Madras	Tea Break	Session Continues with Interaction	Lunch Break	Prosecution under NI Act & Fair Trial in Criminal Matters  Mr. S. Raghunathan, Advocate, High Court, Madras	Tea Break	Session Continues with Interaction
31.10.2013 Thursday	NDPS Act – Mandatory & Procedures  Mr. S.Gunabalan  Eden, House of Jehovahs Witnesses, Plot No.25, Balaji Nagar, 3 <sup>rd</sup> Extn., No.33, Puzhuthivakkam, Chennai-91	Tea Break	Session Continues with Interaction	Lunch Break	Library Work	Tea Break	Writing Record Notes
01.11.2013 to 03.11.2013		!	DEEPAVALI	HOLI	DAYS		

Date & Time Schedule	10.00-11.30 am	11.30 - 11.45 am	11.45 am - 1.00 pm	1.00 -2.00 pm	2.00-4.00 pm	4.00 -4.15 pm	4.15-5.00 pm
04.11.2013 Monday	Recording of Dying Declarations - Disposal of Properties Mr. R. Paranjothi, Former District Judge	Tea Break	Session Continues with Interaction	Lunch Break	Protection of Women from Domestic Violence Act Mrs. K. Santhakumari Advocate, High Court, Madras	Tea Break	Computer Session
05.11.2013 Tuesday	Framing of Issues and Appreciation of Evidence Mr. A. Ratnavelu Former District Judge	Tea Break	Session Continues with Interaction	Lunch Break	The New Amendments to Criminal Law 2013 Mr. T.M. Vijayaraghavalu Advocate, Vellore.	Tea Break	Computer Session
06.11.2013 Wednesday	Prosecution in Labour Related Offences  Mr. V.Balaraman  Joint Commissioner of Labour (Retd.)	Tea Break	Session Continues with Interaction	Lunch Break	Applications in trial of the Principles of General Exceptions  Mr. E.K. Kumaresan Advocate, High Court, Madras	Tea Break	Computer Session
07.11.2013 Thursday	Criminal Procedure Code – An overview  Hon'ble Mr. Justice K.Swamidurai Former Judge, High Court, Madras	Tea Break	Session Continues with Interaction	Lunch Break	Provisions of Tamil Nadu Court Fees and Suits Valuation Act, 1955 Mr. N. Manokaran, Advocate, High Court, Madras	Tea Break	Computer Session
08.11.2013 Friday	Visit to Vidya Sagar (Formerly The Spastics Society of India)				Submission of Re	cords / Re	gisters